—
SOLDER TERMINALS - MOULDED DAP, SINGLE TURRET

Dimensions in inches (mm)
See page 94 for recommended Anvil and Punch

Fig 3
L
ZT TAP

1062 (1.57)

Figé How to order code

Dy
!\ ® 572 - 4XXX - XX - XX - 16
070 (1.78) —I:Insulator Colour

062 (1 57)*‘ ‘« 8.232 (589)

Basic Part No.

Terminal Finish

Material Code Table Finish Code Table
RoMS Terminal Finish | Mig. Stud
Finish
Insulator Diallyl v
| roeo | oew |7
z

Terminal Brass
L

Insulation Colour Code Table

Desh No

. “
T IR

Fig. | Basic Part Board A B C D D1 D2 D3 E
No. Thickness (RMS)
5724870 01| .125(3.18) - 156(396) | 235(5.97) | .188(4.78) | .072(1.83) | .047(1.19) - - 116/(2.95) 256 3000
02| 183(4.78)
03| .250(6.35)
572-4876 01| .125(3.18) - 219(556) | .235(597) | .188(4.78) | .072(1.83) | .047(1.19) - - 179 (4.55) 256 3000
02| 183(4.78)
' 03| .250(6.35)
5724894 01| 218 (5.54) - 156(396) | 219(5.56) | 172(437) | .093(2.36) | .055(1.40) - - 116/(2.95) 2:56 3000
5724895 01°| 218 (5.54) - 156(396) | .376(9.55) | .329(8.36) | .093(236) | .055(1.40) - - 116(2.95) 256 6000
572-4900 01| .118(3.00) - 156(396) | .238(6.04) | .191(485) | .072(1.83) | .047(1.19) - - 116(295) | M2x04 3000
02| .197(5.00)
572-4903 01| .118(3.00) - 219(556) | 238(6.04) | .191(485) | .072(1.83) | .047(1.19) - - 179(455) | M2x04 3000
02| 197 (5.00)
5724877 01| .094(2:39) 062 (1.57) 219(556) | 235(5.97) | .188(4.78) | .072(1.83) | .047(1.19) | .078(1.98) | .067(1.70) | .179(455) 3000
02| 125(3.18) 094 (2:39)
’ 572-4901 02| .094(2.39) 062 (1.57) 156(396) | .238(6.04) | .191(485) | .072(1.83) | .047(1.19) | 078(1.98) | .067(1.70) | .116(2.99) - 3000
03] 125(3.18) 094 (2:39)
572-4904 02 .094(239) 062 (1.57) 219(556) | 238(6.04) | .191(485) | .072(1.83) | .047(1.19) | .078(1.98) | .067(1.70) | .179(455) 3000
03] 125(3.18) 094 (2.39)
5724872 01| 078(1.99) - T56(396) | 235(97) | 188(78) | 072183 | 047(119) 116299 2-56 3000
5724875 01| .117(297) - 156(396) | .391(9.93) | .344(8.74) | .072(1.83) | .047(1.19) - - 116(2.95) 256 3000
3 572-4878 01| .078(1.98) - 219(556) | 235(597) | .188(4.78) | .072(1.83) | .047(1.19) - - 179 (4.55) 2-56 3000
5724881 01| .117(297) - 219(556) | .391(9.93) | .344(8.74) | .072(1.83) | .047(1.19) - - 179 (4.55) 2:56 3000
5724902 01| .079(200) . 156(3.96) | .238(6.04) | .191(485) | .072(183) | .047(1.19) . . 116(29) | M2x04 3000
572-4905 01| .079(2.00) - 219(556) | .238(6.04) | .191(4.85) | .072(1.83) | .047(1.19) - - 179(455) | M2x04 3000
5724834 01| .219(5.56) - 219(656) | 375(953) | .312(7.92) | .140(356) | .062(1.57) - - 147 (373) 440 6000
s 5724835 01| .219(5.56) - 219(656) | 375(9.53) | .312(7.92) | .140(356) | .062(1.57) - - 147 (373) 6-32 6000
02| .250(6.35)
03| .375(959)
5724842 01| .094(2.39) 062 (1.57) 219(556) | 594(1509) | 531(1349) | .140(356) | .062(1.57) | .098(249) | .064(1.63) | .147(379) 6000
02| 125(3.18) 094 (2.39)
03| .156(396) 125(3.18)
5 04| 234(694) 188 (4.78)
572-4843 01| .094(239) 062 (1.57) 219(5.56) | 594 (15.09) | 531 (1349) | .140(356) | .062(157) | .141(358) | .116(295) | .147(3.73) 6000
02| 125(3.18) 094 (2:39)
03| .156(3.96) 125(3.18)
04| 234(594) 188 (4.78)
5724838 01| .156(3.96) - 219(656) | 375(953) | .312(792) | .140(356) | .062(1.57) - - 147(379) 440 6000
6 [572-4839 01| .156(3.96) - 219(556) | 375(9.53) | .312(7.92) | .140(356) | .062(1.57) - - 147 (373) 6-32 6000
572-4844 01| .219(5.56) - 219(556) | 594(1509) | 531(1349) | .140(356) | .062(1.57) - - 147(373) 440 6000

*Supplied with unassembled nut & lock washer

Call our dedicated order line on +44 (0) 1433 621555 or visit www.cambion.com CAMBIOH® a7




